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Which of the following crop was first
approved for commercial cultivation
in India ?

(A) Bt Cotton

(B) Bt Brinjal

(C) Golden Rice

(D) BtMaize

The major chemical constituents of
vegetable oil are

(A) Mono-glycerides

(B) Di-glycerides

(C) Tri-glycerides

(D) Unsaturated acids

The highest relative humidity during
the day usually occurs

(A) atdawn

(B) in the early afternoon

(C) atsunset

(D) in the evening

Which one of the following is not a
potash bearing mineral?

(A) Feldspar (B) Muscovite
(C) Biotite (D) Olivine

What is inertia ?

(A) The tendency of an object to
continue doing what it is
currently doing.

(B) The opposing force of gravity

(C) The mass of an object

(D) Another name for unbalanced
forces

Clouds predicting the approach of
heavy rains with thunderstorms are
called

(A) Cumulonimbus

(B) Altostratus

(C) Cirrostratus

(D) None of the above

In the formation of organometallic
complexes, the metal ion acts as

(A) Aligand

(B) An electron donor

(C) An electron acceptor

(D) Aninertion
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Organic compounds with generic
name ending with “oic” are
characterized by the presence of
which group ?

(A) OH group

(B) CHO group

(©) (=0 group

(D) COOH group

The chemical constituents responsible
for the fragrance of flowers are

(A) Flavonoids

(B) Steroids

(C) Carotenoids

(D) Hormones

For every

and opposite

(A) reaction, action
(B) action, action
(C) reaction, reaction
(D) action, reaction

there is an equal

Which of the following is used for the
disinfection of drinking water ?

(A) Chlorine gas

(B) Hydrogen gas

(C) Ammonia gas

(D) All of the above

A protoplast is devoid of
(A) Cytoplasm

(B) Nucleus

(C) Cell wall

(D) None of the above

Which of the following is true :

(A) Starch and cellulose are
monosaccharides

(B) Starch and cellulose are
disaccharides

(C) Starch and cellulose are
polysaccharides

(D) None of the above

The amount of force required to move
an object is measured in

(A) Newtons (B) Kilometres
(C) Seconds (D) Grams
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The heat energy released when water
vapors change to liquid is called

(A) Latent heat of evaporation

(B) Latent heat of fusion

(C) Latent heat of fission

(D) Latent heat of condensation

Gravity and magnetism are examples
of which kind of a force ?

(A) Frictional (B) Non-contact
(C) Contact (D) Momentum

Arrange the following in increasing
order of their tendency to form
H-bonds

NH,;, PH;, CH;0H, CH;OCH,, HF

(A) HF <NH, < PH, < CH;0CH;, <
CH,OH

(B) CH,OCH, < PH, < CH;0H <
NH, < HF

(C) PH, < CH,0CH, < CH,0H <
NH, < HF

(D) PH, < NH, < HF < CH;0H <
CH,OCH,

A person is weighed on the moon and on

earth. Which of the following statements

would be true ?

(A) The person’s mass on earth
would be double on the moon

(B) The person’s mass on the moon,
would be twice that on earth

(C) The person would have mass on
earth but not on the moon

(D) The mass would be the same on
the moon as it is on earth

Earth’s weather is due to

(A) exosphere (B) stratosphere

(C) mesosphere (D) troposphere

Night time temperature rarely drops

below the dew point temperature because

(A) The dew absorbs all the heat

(B) Saturation vapor  pressures
always increases at night

(C) At saturation, latent heat of
condensation is released into
the air

(D) Both (B) and (C)
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The relationship between volume ‘V’
and pressure ‘P’ for a given mass of a
gas at constant  temperature,
according to Boyle’s law is

(A) Vol/P (B) VP

(C©) Vv=P (D) None of these

Oxidation of a substance means

(A) Addition of oxygen or removal
of hydrogen

(B) Addition of hydrogen or
removal of oxygen

(C) Addition of hydrogen and oxygen

(D) Removal of hydrogen and oxygen

Glycol is a compound having
(A) Two hydroxyl groups
(B) Two double bonds and one

hydroxyl group

(C) One double bond and one
hydroxyl group

(D) One hydroxyl group and one
aldehyde group

The force that is necessary to keep an
object moving in a circular path and
is directed inward towards the centre
is called

(A) Centrifugal force

(B) Gravitational force

(C) Centripetal force

(D) None of the above

What is — 40 degrees Fahrenheit expressed
as in degrees Centigrade ?

(A) 40 degrees

(B) —40 degrees

(C) 4.44 degrees

(D) None of the above

Which of the following are examples
of surface tension ?

(A) Soap bubbles

(B) Emulsions

(C) Both (A) and (B)

(D) None of the above

An  instrument that measures
temperature, pressure, and humidity
at various altitudes in the atmosphere

(A) Barograph

(B) Radiosonde

(C) Altimeter

(D) Aneroid barometer
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The proper order from shortest to
longest wavelength is

(A) visible < infrared < ultraviolet
(B) infrared < visible < ultraviolet
(C) ultraviolet < visible < infrared
(D) wvisible < ultraviolet < infrared

The accuracy of
calipers, dial
checked by a

(A) Feeler gauge (B) Slip gauge
(C) Ringgauge (D) Plug gauge

micrometers,
indicators can be

Fructose is found in
(A) Honey

(B) Dates

(C) Raisins

(D) All of the above

Which force is responsible for
separation of cream from milk ?

(A) Magnetic

(B) Centrifugal

(C) Gravitational

(D) None of the above

Which principle governs the uptake
of water from the roots to the leaves
of a plant ?

(A) Capillary

(B) Non-capillary

(C) Rinsing

(D) None of the above

Soft soap majorly consists of

(A) Calcium salt of a fatty acid
(B) Sodium salt of a fatty acid
(C) Potassium salt of a fatty acid
(D) None of the above

Which of the following is used for
removing permanent hardness of water ?
(A) Boiling of water

(B) Addition of cold water

(C) Addition of soda ash

(D) None of the above

Which of the following 1is an
Avogadro’s number (N) ?

(A) 6.023 x 102!

(B) 6.023 x 10?3

(C) 6.023 x 107

(D) None of the above
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The position and momentum of a

particle cannot be simultaneously

measured with high precision is stated by

(A) Heisenberg’s Uncertainty
Principle

(B) Autbau’s Principle

(C) Pauli’s Exclusion Principle

(D) None of the above

Which of the following molecules has
a zero dipole moment ?

(A) CH,Br,

(B) fluoromethane

(C) trans — FHC = CHF

(D) cis—FHC = CHF

Permanent hardness of water is due to
(A) Sulphates of calcium and

magnesium

(B) Nitrates of calcium and
magnesium

(C) Chlorides of calcium and
magnesium

(D) All of the above

One part per million (ppm) is
(A) 1.0 mg/kg (B) 1.0g/10kg
(C) 0.1gkg (D) 0.01 g/kg

Which of the following is a

colligative property ?

(A) Viscosity

(B) Lowering of vapour pressure of
solution

(C) Optical rotation

(D) Surface tension

What is the unit of measurement of
wind speed ?

(A) Metre per second

(B) Kilometre per second

(C) Nautical mile per hour

(D) None of the above

The process by which water is
changed from gaseous form to liquid
form, leading to the formation of
cloud droplets in the atmosphere is
called

(A) Conduction
(C) Convection

(B) Condensation
(D) Radiation
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When two chemicals interact in a way
that their combined effect is more
than the sum total of individual
effects, the interaction is called

(A) Additive effect

(B) Antagonistic effect

(C) Potentiation effect

(D) Synergistic effect.

In a nitrogen cycle, oxidation state of
Nitrogen on complete nitrification of
ammonia changes from

(A) -3to+3 (B) +3to-5
(C) 3to+5 (D) +3to-3

Anomalous expansion of water is

because of

(A) Intermolecular interactions

(B) Intramolecular interactions

(C) TIts melting at 0 °C and boiling
at 100 °C

(D) All of the above

What is the unit of measurement of
specific heat ?

(A) Joules/kg/kelvin

(B) Joules/kelvin

(C) Joules/kg

(D) Joules

How long will it take for a 50 W heater
to melt 2 kg of ice at 0 °C. Assume no
heat is lost to the surroundings and the
heat of fusion is 80 cal/gm

(A) 23 minutes (B) 123 minutes
(C) 223 minutes (D) 323 minutes

Climate change is a problem arising

due to

(A) Greenhouse gas emissions
causing global warming

(B) Big bang effect

(C) Melting of glaciers

(D) Large scale afforestation

Ripening of fruits is accelerated when
the fruits are treated with

(A) Urea (B) Ethyl alcohol
(C) Toluene (D) Ethylene

Vanaspati ghee is produced by

(A) Hydrogenation of desi ghee
(B) Hydrogenation of vanaspati oil
(C) Hydration of desi ghee

(D) Hydration of vanaspati oil
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The formula for Arithmetic mean of a
frequency distribution is

(A) 2fx

B) 2fx2f

© 2f

(D) None of these

Which measure is highly affected by
extreme values ?

(A) Arithmetic mean

(B) Mode

(C) Median

(D) None of these

The value corresponding to maximum
frequency is called

(A) Median

(B) Mean

(C) Mode

(D) Standard deviation

For qualitative type data, which is
most suitable average ?

(A) Mode

(B) Mean Deviation

(C) Standard Deviation

(D) Median

Which is the easiest measure of
dispersion ?

(A) Quartile deviation

(B) Mean deviation

(C) Standard deviation

(D) Range

The formula for root mean square
deviation is

(A) (I/MN)Zf (x=%)?
(B) (IN)If (=%

(©) VAMNZSf (x—A)>
(D) (I/N)Zf [x— A

The square of standard deviation is
called

(A) Variance

(B) Mean deviation

(C) Mean square deviation

(D) Coefticient of variation
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58. Which is a stable measure of
dispersion ?
(A) Standard deviation
(B) Mean deviation
(C) Range
(D) None of the above

59. Which is a unitless measure of
dispersion ?
(A) Range
(B) Quartile deviation
(C) Coefticient of variation
(D) Standard deviation

60. Sum of absolute deviation about
median is
(A) Least
(B) Greatest
(C) Zero
(D) None of the above

61. In a frequency distribution where
mode is higher than the mean, the
distribution is
(A) Symmetric
(B) Negatively skewed
(C) Positively skewed
(D) Normal

For Q.62 to Q. 66 : Read the following and
answer the questions :

For a group of 200 students, the mean and
standard deviation of scores were found to
be 40 and 15 respectively. Later on it was
discovered that the scores 43 and 35 were
misread as 34 and 53 respectively.

62. The corrected value of 2 X is
(A) 8000
(B) 365000
(C) 7991
(D) None of these

63. The corrected value of 22 is

(A) 1600 (B) 364109
(C) 200 (D) 225

64. The value of corrected mean is
(A) 39.555 (B) 39.955
(C) 38.955 (D) 36.955
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The corrected value of 62is
(A) 224.14 (B) 223.14
(C) 222.14 (D) None of these

Which measure cannot be computed
if extreme classes are open ?

(A) Mode

(B) Median

(C) Arithmetic mean

(D) None of these

To plot a frequency polygon, we must
have a

(A) Continuous distribution

(B) Ungrouped distribution

(C) Grouped distribution

(D) Discrete distribution

For a group of 200 students, the mean
and standard deviation of scores were
found to be 40 and 15 respectively.
Later on it was discovered that the
scores 43 and 35 were misread as 34
and 53 respectively. The corrected
value of standard deviation is

(A) 14.33

(B) 14.66

(C) 1497

(D) None of the above

Which of the following is not an
agricultural implement ?

(A) Seed drills

(B) Plough

(C) Chaff cutter

(D) None of the above

Oil cakes are fed to the animals for

which of the following main purpose ?

(A) Increasing the fat content of milk

(B) Increasing the protein content
of milk

(C) Increasing the casein content of
milk

(D) Improving disease resistance in

animals

Which of the following soil depth is
recommended for kharif crops ?

(A) <45cm (B) >45cm
(C) <60cm (D) >60cm
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Yield of crops can be improved by
(A) Zero tillage

(B) Stubble retention

(C) Raised cropping beds

(D) All of the above

Phalaris minor is a

(A) Common weed

(B) Wheat variety

(C) Rice variety

(D) Species of grass

The wheat variety having more
protein and less starch is

(A) Sarbati (B) Khapli

(C) Sehore (D) Bakshi

Light appears to travel in straight
lines because

(A) It is not absorbed by the
atmosphere.

(B) Its wavelength is very small.

(C) Tts speed is very high.

(D) It is reflected by the upper part
of the atmosphere.

The kharif cropping season is

between

(A) July — October
(B) October — March
(C) June — August
(D) March — June

The equipment that is used for
grading, levelling of fields, filling of
depressions and smoothening of fields
is called

(A) Terracer blade

(B) Hydrodozer

(C) Backhoe loader

(D) Hydraulic scraper

Which of the following best describes
the process of soldering of metals ?
(A) High pressure and temperatures
are used to join metal surfaces
(B) High temperature is used to
melt and fuse together the
adjacent metal surface to be
joined.
Use of a low melting point filler
metal to join metal surfaces
together without melting the base
metal
(D) Prevent oxidation during welding

©
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Pumps exhibiting a constant flow,
irrespective of the system pressure or
head are called

(A) Centrifugal pumps

(B) Positive displacement pumps
(C) Double suction pumps

(D) Regenerative pumps

Cast-iron is used to make which of
the following agricultural implements ?
(A) Plough-yoke

(B) Shares of small ploughs

(C) Washer belts

(D) None of the above

Heat of vaporization of water is
(A) 22571J/g (B) 32571J/g
(C) 1257)/g (D) 200J/g

The ability of hydraulic systems to lift

and support large loads in agricultural

applications depends primarily on the

principle governing the fluids used in

hydraulic systems

(A) Fluids in a hydraulic system
cannot be compressed when
force is applied

(B) Viscosity of fluids is inversely
proportional to temperature

(C) Application of force to a fluid
leads to an increase in
temperature

(D) Lower coefficient of friction of
fluids

The main reason for soil erosion is
(A) Deforestation

(B) Afforestation

(C) Ozone layer

(D) Goats and grazing animals

Belts used in agricultural implements
are made up of

(A) Rubber (B) Leather
(C) Cotton thread (D) Plastic

Harrows are used for

(A) Preparation of seedbed
(B) Covering seeds

(C) Destroy weed seedlings
(D) All of the above
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86. Which of the following parameters is
measured using dynamometer ?
(A) Temperature
(B) Force
(C) Height
(D) None of the above

87. One hectare is equivalent to
(A) 10000 metre
(B) 10000 sq. metre
(C) 15 acre
(D) 10 bighas

Read the following and answer Q 88 to Q
92.

The first of the two samples has 100 items
with Mean 15 and Standard deviation 3. If
the whole group has 250 items with Mean
15.6 and Standard deviation 4/13.44, then
answer the following questions.

88. The second sample will have number
of items equal to

(A) 100 (B) 150
(C) 200 (D) 50
89. The second sample will have mean
equal to
(A) 16 (B) 24
(C) 32 (D) 25

90. The variance o of the whole group
(combined group) is

(A) 16 (B) 13.44
< 9 D) 3

91. The variance of second sample is
(A) 16 (B) 13.44
<© 9 D) 3

92. The standard deviation of second
sample is
(A) 16 (B) 13.44
€ 4 D) 3

93. The separation of grain from stalks
and husks is done with the
(A) Sickle
(B) Thresher
(C) Digger
(D) None of the above

P-3
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Which of the following has the
smallest soil particles ?

(A) Sand

(B) Gravel

(C) Silt

(D) Clay

Separation of sand and silt by creating
a centrifugal force is done by a

(A) Hydrocyclone

(B) Disk filter

(C) Gravel Filter

(D) None of the above

Which of the following method of
irrigation is adopted for potato ?

(A) Furrow irrigation

(B) Drip irrigation

(C) Sprinkler irrigation

(D) None of the above

Irrigation system best suited for areas
like Rajasthan where water is scarce is
(A) Sprinkler system

(B) Drip system

(C) Open tunnel system

(D) Closed tunnel system

Pumps having the highest discharge
are called

(A) Turbine pump

(B) Jet pump

(C) Submersible pump

(D) None of the above

Which of the following is used for
growing cotton ?

(A) Sandy soil

(B) Loamy soil

(C) Alluvial soil

(D) Black soil

The by-product of the harvested crop
that cannot be used as feed for animals is
(A) Barley

(B) Gram

(C) Mustard

(D) Millet
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Ag. - 111 : AGRONOMY & AGRICULTURAL BOTANY
Ag. - 111 : T T T FHIW Feard e

“Alphonso” is a variety of
(A) Mango (B) Guava
(C) Orange (D) Banana

“Azadirachtin” is primarily known
for its activity as a

(A) Bio-pesticide

(B) Nutrient

(C) Shelf-life enhancer

(D) None of the above

What is raisin ?

(A) A dry fruit

(B) A dry vegetable
(C) A cut fruit

(D) A dry cut fruit

Legumes are also called

(A) Nitrogen fixing plants
(B) Nitrogen hungry plants
(C) Evergreen plants

(D) None of the above

Rhizobium is used as a bio-fertilizer for
(A) Legumes

(B) Wheat or Rice

(C) Rice and Sugarcane

(D) All of the above

Art of growing trees in a pot and not
allowing them to reach their normal
height is known as
(A) Bonsai

(C) Fluer

(B) Ikebana
(D) Iwakura

Which of the following is not a zaid
crop ?

(A) Mustard

(B) Gram

(C) Wheat

(D) None of the above

Which of the following group of
crops are sown in winter and
harvested in summer ?

(A) Wheat and mustard

(B) Mustard and maize

(C) Moong and wheat

(D) None of the above
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Which of the following is not a dicot ?
(A) Wheat (B) Gram
(C) Moong (D) Motth

SAR , used to depict the quality of
soil stands for

(A) Sodium Adsorption Ratio

(B) Soluble Alkali Residue

(C) Soil Alkali Reserves

(D) Sodium Absorption Ratio

Choose the correct statement

(A) High water salinity is a problem
causing loss of yield of crops
High salinity water is useful for
high yielding varieties

Salinity in water is due to the
presence of insoluble salts
which precipitate in the soil.
Salinity has no role to play in
agriculture

(B)
©)

(D)

Gluten is a major constituent of
(A) Wheat (B) Rice
(C) Jowar (D) Bajra

Which of the following characteristics
do mosses, liverworts and hornworts
share ?

(A) Reproductive cells in
gametangia

(B) Branched sporophytes

(C) Vascular tissues, true leaves and
a waxy cuticle

(D) Lignified walls

Flowers of grasses are small

compared with flowers of other

plants, because grasses generally

(A) Put more energy into vegetative
growth than seed production
Pollination by small beetles that
find the flower by smell rather
than sight

Reproduce by spread of
underground stolons rather than
seeds

Pollinate by wind rather than
insects and animals

(B)

©

(D)
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Which of the following is a trace metal ?
(A) Copper (B) Sulphur
(C) Magnesium (D) Calcium

Which of the following is the particle
size of clay ?

(A) Less than 10 microns

(B) More than 10 microns

(C) Less than 50 microns

(D) More than 50 microns

Which of the following soils are
preferred for agriculture ?

(A) Clayey

(B) Sandy

(C) Loamy

(D) None of the above

A branch of biology that deals with
the identification, nomenclature and
classification of organisms is called ?
(A) Morphology (B) Taxonomy
(C) Ecology (D) Physiology

Which of the following does not
cause soil erosion ?

(A) High rainfall

(B) Improper land management

(C) Improper water management
(D) Pruning of plants

Which of the following UN
organization deals with agriculture ?
(A) UNDP (B) ASEAN

(C) UNEP (D) FAO

Which of the following leads to soil
conservation ?

(A) Afforestation

(B) Building of dams

(C) Landslides

(D) Deforestation

Which of the following is a soil
management practice ?

(A) Terracing

(B) Sub soiling

(C) Contour cultivation

(D) All of the above

Which of the following will not
prevent surface soil from blowing ?
(A) Sub soiling

(B) Deep cultivation

(C) Mulching

(D) Sowing of seeds
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Which of the following is not an
organic mulch ?

(A) Crushed stone

(B) Crushed grass

(C) Crushed leaves

(D) Crushed pine needles

Which of the following types of crop
provides maximum cover to check
loss of soil ?

(A) Legumes

(B) Cut grass

(C) Vegetables

(D) None of the above

Micro-organisms present in soil
directly affect which of the following
characteristics of soil ?

(A) Texture (B)
(C) Humus content (D)

Structure
pH

Protein rich crop is
(A) Beans
(C) Bajra

Jowar
Rice

(B)
(D)

Which of the following produces
leathery dark green leaves in plants ?
(A) Excess of acidity

(B) Excess of alkalinity

(C) Excess of nitrogen

(D) None of the above

Which of the following crop is used
for green manuring ?

(A) Sanai

(B) Daimeha

(C) Paddy

(D) None of the above

Which of the following can be used
for making compost ?

(A) Waste from farm house

(B) Waste from sewage plant

(C) Waste from cattle shed

(D) All of the above

Which of the following is nitrogen
percentage in urea ?

(A) 35%

(B) 45%

(©) 55%

(D) None of these
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A fruit is most commonly

(A) A mature female gametophyte
(B) An enlarged ovule

(C) A thickened style

(D) A mature ovary

Fresh apples after harvest, are

supposed to be kept under increased

carbon-dioxide and reduced oxygen

atmosphere because

(A) Insect eggs are prevented from
hatching

(B) Respiration rate of apples is low

(C) Starch in apples convert into

sugar making apples taste

sweeter

(D) Apples will ripen faster

The cells which are secretory in
function possess a well developed
(A) Lysosome (B) Ribosome
(C) Golgi apparatus (D) Mitochondrion

The stem develops directly from
(A) Plumule (B) Radicle
(C) Integuments (D) Cotyledons

Which of the following practice is
adopted for wheat ?

(A) Sowing in furrows

(B) Sowing in ridges

(C) Drilling

(D) None of the above

“Ponni” variety of rice is grown in
which part of India ?

(A) Maharashtra

(B) Uttar Pradesh

(C) Madhya Pradesh

(D) Tamil Nadu

Which of the following practice is
essential for rice cultivation ?

(A) Puddling

(B) Levelling

(C) Ridging

(D) None of the above

Which of the following plants is thorny ?
(A) Karonda (B) Apricot
(C) Mulberry (D) Jamun

Potato and sweet potato are basically
(A) Root

(B) Tuber

(C) Root & Stem

(D) None of the above
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The practice of maintaining the
quality and health of forests by
planting trees is called

(A) Sericulture (B) Silviculture
(C) Horticulture (D) Floriculture
Which of the following plants is
grown using terraced farming ?

(A) Tea (B) Grape
(C) Coftee (D) Peach

“Parthenocarpy” refers to which one
of the following ?

(A) Seedless fruits

(B) Seedless vegetables

(C) Genetically modified fruits

(D) None of the above

The mustard plant is an example of
(A) Epigeal germination

(B) Hypogeal germination

(C) Viviparous germination

(D) None of the above

Enzymes increase the rate of

reactions by

(A) Decreasing the activation energy

(B) Increasing overall free energy
of the reaction

(C) Both (A) and (B)

(D) None of the above

The vegetable, Okra belongs to which

family ?

(A) Malvaceae (B) Solanaceae

(C) Euphorbeacea (D) Verbenaceae

Amino acids provide plant cells with
an immediate available source of

(A) Nitrogen

(B) DNA

(C) Carbohydrates

(D) None of the above

All fungi share which of the
following characteristics ?

(A) Symbiotic (B) Flagellated
(C) Heterotrophic (D) Pathogenic

Name the most toxic metal from
automobile exhausts known for
polluting agricultural crops ?

(A) Sulphur (B) Carbon
(C) Copper (D) Lead

Which of the following gas is not
responsible for green house effect ?

(A) Hydrogen (B) CFC

(C) Methane (D) Carbon dioxide
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